Subject: Re: Help with Histogram...
Posted by peter.albert@gmx.de on Wed, 28 Sep 2005 06:43:14 GMT

View Forum Message <> Reply to Message

Hi,

> index=Where((profile GE base[0] AND profile LE top[0]) OR $
> (profile GE base[1] AND profile LE top[1]) OR $
>

> (profile GE base[7] AND profile LE top[7]))

> profile[index]=1

before | get things wrong from the beginning, I'd better ask: "profile”

is the array which should just contain the zeros and ones, depending on
the cloud base and top heights, right? In that case, comparing

"profile” itself to base[i] and top[i] does not make sense. There has

to be another variable actually giving the height levels. And | guess
those are constant for all profiles, are they not?

Regards,

Peter
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